
Chemistry 112‐2010, Exam #3, April 28        NAME: _________________________ 

Questions 1‐15 = 4 points each, no partial credit; Questions 16‐20 = 8 points each, with partial credit 
ANSWER BOTH SCANTRON and PAPER     Hand in both. 

 
1. When the reversible reaction,   N2 + O2 →←  2 NO, has reached a state of dynamic equilibrium, which 
statement below is true?  

(a)  Both  the  forward  and  reverse  reactions  stop  completely  and  no more NO, N2  or O2  are 
produced. 

(b) The rate of the forward reaction equals the rate of the reverse reaction. 

(c) The rate constant of the forward reaction equals the rate constant of the reverse reaction. 

 

2. Which of the following best favors a reaction having a fast rate? 

  (a) low activation energy 

  (b) high activation energy 

  (c) low activation energy and high temperature 

  (d) high activation energy and high temperature 

  (e) high activation energy and low temperature 

  (f) low activation energy, high temperature, and negative ΔH 

 

3. For a reaction with the rate law:  Rate = k[A]:   

(a)   a plot of ln[A] vs. time gives a straight line.  

(b)   a plot of 1/[A] vs. 1/time gives a straight line. 

(c)    a plot of [A] vs. time gives a straight line.  

(d)   a plot of 1/[A] vs. time gives a straight line.   

(e)   a plot of log 
[A]
[A]

o  vs. 1/time gives a straight line.                    

4. The gas phase reaction C2H4 + Cl2 → C2H4Cl2 follows the rate law: Rate = k[C2H4] [Cl2]
2.  If the 

concentration of C2H4 is doubled while the concentration of Cl2 remains constant, the initial rate of the 
reaction: 

(a) increases by a factor of 4. 
(b) decreases by a factor of 2. 
(c)  increases by a factor of 2.   because the reaction is first order in C2H4 
(d) increases by a factor of 1.5. 
(e) remains constant. 

   



5. Use the following information for the reaction:  2A + B → C. Initial rates were measured at different 
molar concentrations.  
   

Experiment  [A]  [B] 
Initial Rate 
(mol/L⋅s) 

1  1.0 x 10‐2 1.0 x 10‐2 5.3 x 10‐4 
2  2.0 x 10‐2 1.0 x 10‐2 1.06 x 10‐3 
3  3.0 x 10‐2 2.0 x 10‐2 1.59 x 10‐3 
4  2.0 x 10‐2 2.0 x 10‐2 1.06 x 10‐3 

  What is the order of this reaction with respect to reactant [B]? 

 
(a) Zero   (b) One   (c ) Two   (d) Three 
  The rate does not change when [B] changes. 

 

6. What is a half‐life? 

(a) It is a special case when the rate constant equals one‐half.  (i.e. k = 0.5) 

(b) A period of time required for the concentration of a reactant to reduce to one‐half its 
original value. 

(c ) It is a rate law that is one‐half order:  (ie. Rate = k[A]1/2) 

(d) One half the time it takes for the reaction to go to completion. 

(e) A period representing the amount of time required for an initial concentration of a reactant 
to reduce to 0.5 M.   

 

7. Consider the system, 2 CH2Cl2(g)  →←   CH4(g)  +  CCl4(g), which has an equilibrium constant of       
K = 2.4. If a system has: 
      [CH2Cl2] = 0.22 M 
      [CH4] = 1.64 M 
      [CCl4] = 0.58 M 
 
then,  (a) the system is at equilibrium 
  (b) the system is not at equilibrium and will react to form more CH2Cl2 
  (c) the system is not at equilibrium and will react to form more CH4 and CCl4 
 
Q = (1.64)(0.58)/(0.22)2 = 19.7; Q > K, so product concentrations are too high; reaction shifts left. 
 

8. Iodine‐123 is used to study thyroid gland function.  This radioactive isotope breaks down in a first 
order process with a half‐life of 13.1 hours.  What is the rate constant, k for the process?   

(a) 0.0529 hr‐1       (b) 6.55 hr‐1    (c) 9.08 hr‐1    (d) 18.9 hr‐1  (e) 26.2 hr‐1 



for a first order reaction, k = 0.693/t1/2 

9. For the reaction 2 SO2Cl2(g) →←  2 SO2(g) + 2 Cl2(g)  , the expression  for Keq  is 
 

(a) 

2 2
2 2

2
2 2

[SO ] [Cl ]
[SO Cl ]eqK =

   
 

 

10. The following system is at equilibrium   CH4(g)  +  CCl4(g) →←  CH2Cl2(g). 

If CCl4 is removed from the sample, what will then happen to the concentrations of CH4 and of CH2Cl2? 

(a) both [CH4] and [CH2Cl2] will increase 

(b) both [CH4] and [CH2Cl2] will decrease 

(c) [CH4] will decrease and [CH2Cl2] will increase 

(d) [CH4] will increase and [CH2Cl2] will decrease 

(e) [CH4] will remain constant and [CH2Cl2] will increase 

Reaction shifts left to replenish the decreased CCl4. 

 

11. What are [H3O
+] and [OH

‐
 ] for a solution that has a pH of 9.0? 

(a)  [H3O
+] = 9 M  and  [OH

‐
 ] = 5 M 

(b)  [H3O
+] = 5 M  and  [OH

‐
 ] = 9 M 

(c) [H3O
+] = 1 x 10‐9 M  and  [OH

‐
 ] = 1 x 10‐5 M 

(d)  [H3O
+] = 1 x 10‐5 M  and  [OH

‐
 ] = 1 x 10‐9 M  

(e)  [H3O
+] = 1 x 109 M  and  [OH

‐
 ] = 1 x 105 M 

 

12. What is the conjugate base of HC2O4
‐
?   

  (a) H2C2O4     (b)  C2O4
2‐    (c)  2 CO2    (d)  H3C2O4

+ 
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17. A highly toxic pesticide decomposes in the soil via a first order rate law.  The rate constant for the 
decomposition is 0.0995 days‐1.  How long will it take for it to decompose to 10% of its original 
concentration? In days. 
          
 
The key here is that [R]t/[R]o = 0.10 
 
ln(0.10) = ‐kt 
 
‐2.303 = ‐0.0995 day‐1 t 
 
t = 2.303/0.0995 days = 23.1 days 
 
 
 
 
18. Butene isomerizes to form isobutane. 
   
    butene      →←   cyclobutane    K = 6.0 
 
If a sample of 1.00 M butene is placed in a flask and allowed to react, what will [cyclobutane] be once 
equilibrium is established? 
 
Show your work, the ICE method must be used and presented correctly. 
 

butene      →←   cyclobutane 
Initial        1.00         0 
Change         ‐x       +x 
Equilibrium     1.00 –x       x 
 

6.0
1.0

xK
x

= =
−

 

 
6.0(1.0‐x) = x 
  
6.0 – 6.0x = x 
 
6.0 = 7x 
 
x = 6/7 = 0.857 = [cyclobutane] 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
19. What is the pH of a 0.30 M solution of CH3CO2H?    Ka = 1.8 x 10

‐5 
 
Show your work, the ICE method must be used and presented correctly. 
 
 
This is a standard weak acid equilibrium case. 
 
    CH3CO2H + H2O   →←   H3O

+ +  CH3CO2
‐ 

initial         0.30                              0  0  
change         ‐x                                 +x             +x 
Equilibrium  0.30 – x     x  x 
 

2 2
5 3 3 2

3 2

5
3

[ ][ ]1.8 10
[ ] 0.30 0.30

0.30 1.8 10 0.00232 [ ]

H O CH CO x xK
CH CO H x

x M H O

+ −
−

− +

= × = = ≈
−

= × = =i

 

pH = ‐log(0.00232) = 2.63 
 
 
 
20. Consider the reaction, C3H6ClOH(aq)   C3H5OH(aq) + HCl(aq) which is first order in C3H6ClOH with a 
rate constant of 0.125 min‐1. If the reaction is started with [C3H6ClOH] = 0.88 M, what will the pH be 
after 15 minutes? 
 
This problem requires you to determine how much C3H6ClOH reacts in 15 minutes. That then will tell you 
how much HCl is produced. That, in turn tells the pH. 
 
[C3H6ClOH]15min = 0.88  M e‐(0.125)(15) = 0.135 M 
 
The change in [C3H6ClOH] = 0.88 M – 0.135 M = 0.745 M 
 
Each C3H6ClOH that reacts produces one HCl, so, [HCl]15 min = 0.745. 
 
[H3O

+] = 0.745;   pH = 0.128 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
pH = _______ 



 


